oo ooubotub odgodod

0ooo 00000000000000000000

0ooo 00000000000000

00 00

oooo

oooo 00000000000000000000F
0 370

0000 15386992899 15386992899

oo

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobbbuodoogoboboobbdodoodobbobboooooobobooobooos,non
gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
oobooboooobooboo.boobbOxigUbooboboobooboboobooboboobo
gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gooo

000000000000 DO000D00=025xnx (DOO0O-0000)LxOO00OO0DOOOTM =
4L=0000 0000078000 00000O=0.25%x3.4x (DODOO-0000)% Lx 7.8*
O0O000000OMODOODODODO0ODOO0O0D0DO0OKO ODOOO0OO v 8sg/em3dOnonOnd
O0000000D000000000kgODOODOOODODDODOWDOOODOkgO=FOOO

mm2)x L(OOOm)x p (DO0Og/em3)x /10000 0 0000000000000 O00OODOO0O
00000000 OoOoD0O 00 O00kg/md W=0.006165x dx dd=0 0 mm OO 100 mm
O0000O0OmODOOOmMOO=0.006165x% 1002=61.65kg [0 [0 0 O kg/m0 W=0.00617 x dx dd=
O00OmmOO0O0O0O122mmO0O00000O0O0O0OO0O00O0O0O0O0O0O0mMOOODOmO0O=0.00617 % 12
2=0.89kg O 0 O kg/md W=0.00785x ax aa=00mmOO020mmO00000mOO0O0O0OmO0O=
0.00785 x 202=3.14kg [0 0 O kg/mO W=0.00785% bx db=0O 0O mmd=0mm O 040 mm O O 5mm
O0000O0OmODO0OOmMOO=0.00785x% 40 x 5=1.57...

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gobbobobobooooooobbobbbodoogoobbobbbooooobbbbboooog
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
000000000000 00D0DO00Oxiaol



gooooboo-ocooobo-o0boooDb@o)yYooopboobooobooboobo* OO

oo,0b000,ooboo,0oo, 0o, 0b0bo0ob” obboobo0obboobUoDbwww.sxhts
ygscom OO OODODODOOOOOooooboobboooooooobr3r7ooggbbobboogo

gobobbboooooobobbbdoooooboobbboooooobboobobboooad
guodubobbboggoooooood


http://www.tcpdf.org

